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Instruction : Attempt any two questions from Part — A and Part — B is compulsory.

Part— A

1. . The productmn of SAM Manufacturmg Company Ltd. passes throu
before it is transferred to finished stock. The followmg

Particulars Process -1 uﬂb

Raw materials input . ¢ 00 a
o VON

dl

(Cost per unit < 0:60)
Raw Materigl 500 0,500 | 5,500
4,000 6,000 12,000 |
. - 1,200 930 1,340 |
10% | 5% | 10%
bercentage of input)
| Sale value of wastage 0.20 0.50 =

(per unit <)

Actual Output units

Production overhead cost was Z 16,500 which is absorbed as percentage of direct

wag€s.

i ) ‘ Po )
From the above information, you are required to prepare Process Accounts and also

give the abnormal wastage or Gain Accounts.
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2. - A product passes through two different processes, before it is transferred to finished
| stock. The following information is obtained.

Particulars

Opening Stock | | 40,000
Direct Materials < 1,78,000
Direct Wages < 60,400
Factory Overheads 10%
(percentage of prime cost of the process)
Inter process profit in opening stock ¥ - 8,000

Closing Stock 48,000 & o _

The output of Process — 1 is transferred to Process — 2 at 15% profit on the cost pri
Output of Process — 2 is transferred to finished goods stock at 10% profit sft
Inis

20

price.

Stock in the process are valued at prime cost. |
The opening stock of finished goods was ¥ 1,25,200 and clo
Prepare :

ished goods
(I) Process accounts anddfinis accoun
profit.

d st
(2) A statement showing ‘ ali
lon'1s available for Shiv Ltd. 10

8,00,000

ock
25,200. Sales

g
goods was T 60,920. Profit in Opening stock of as

during the period were % 6,50,000.

(2) profit at sales of T 45,00,000

(3) If there is reduction in selligg price by 30% in the year 2020 and the
company wants to maintain same profit as in the year 2019.

What will be the required sales volume ?

(4)  Probable profit when margin of safety is ¥ 35,00,000.
(b)  Write short notes : (any two) 10

(I) Relevant Cost e
(2) . Notional Cost
(3) Oppottunity Cost
(4) Sunk Cost

DC-127 - 8



Particulars

(1) Equity & Liability;
(I) Shareholder’s funds;
(@) Share Capital;

Equity shares of 7 10 each

14% preference share of ¥ 100 each

(b) Reserve & Surplus;
- General Reserve
Revaluation Reserve

Investment Allowance Res.
}' Profit & Loss A/c.

(2) Non—cur_rent_ Liabilities;

Long term borrowings

12% Debentures g <

)

Non-Current Assets; |

(a) Fixed Assets _
Land & Building
Plant & Machinery

(b) Non-Current Investments ¢

(2) Current Assets
(a) ~ Inventories; Stock
(b) Trade Receivables;
Debtors
Bills Receivables

Cash and Cash Equivalents
Cash & Bank Balance 4

L . Total L

| . ()

A Ltd. and B Ltd. were amalgamated on 1-4-2018.
o take over the business of the existing companies.
The balance sheets of A Ltd. and B Ltd. as on 31

A new company C Ltd. was formed

20

-3-2018 are as under :

A Ltd. B Ltd.
4 4

17,00,000
6,40,000

14,50,000
3,50,000

20.00(
1,60,00C
60,000

1,04,000
N 1,00,000 56,000
50,000 -
2,90,000 1,50,000
| 40,000 —
38,00,000 | 26,50,000
9,20,000 | 5,50,000
6,50,000 | 4,20.000 |
1,50,000 | 1,00,000
6,50,000 |  5,38,000
6,10,000 [  5,40,000
50,000
7,70,000 |  5,02,000

P.T.O.



Other information :

(1) 12% Debenture holder of A Ltd. and B Ltd. are discharged by issuing such

number of its (C Ltd.) 15% Debentures of ¥ 100 each to maintain the same
amount of interest.

(2) Preference shareholders of two companies are issued equivalent number of 15%
preference shares of C Ltd. at a price of ¥ 125 per share face value of ¥ 100.

(3) C Ltd. will issue 2 equity shares for each 5 equit&Ehares of A Ltd. and 3 equity °

shares for 10 equity shares of B Ltd. The shares are to be issued at ¥ 35 each,g
having face value of Z 10 each. | ®

(4) Investment allowance Reserve is to be maintained for two more years

You are required to prepare the Balance Sheet of C Ltd. as on 1 18 after the
amalgamation has been carried out on the basis of following assumptions.:

()  Amalgamation is in the nature of merger
(i)  Amalgamation is in the nature of purch |
) l : - .
o - | AR |

X

one answer is given, of which only one
correct answer : (Any five) 10

(1)' Taaev rforman;e of the different processes one may transfer the
duct process to the next process at the cost only.
Tue (b) False .
complete - (d) Can’tsay

IS unavoidable losses arising due to the nature of material or the

. process. |
(a) Normal loss (b) Abnormal loss
(c) Abnormal gain (cﬁ Normal-gain

(3) Units introduced 2400, Normal wastage 10% of input, Actual production 2200
@units, then |

(a) Normal wastage 200 units
(b) Abnormal wastage 40 units
(c) Abnormal gain 240 units
(d) None of the above
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(4) One may use “Three columnar method” to prepare process Afc fo calculate the

unrealised proﬁt in stocks and to calculate the transfer price.
(@) True - (b) False
(c) Incomplete‘ (d) Can’t say
(5) Ininter process profit method, from the following information of process - A find

apparent profit in process — A. Inter process. prfit in opening stock ¥ 4000, Inter
process profit in closing stock ¥ 6000, Actual profit ¥ 18000.

(@) 16,000 ' (b) T 28,000 |

(c) 20,000 (d) ¥ 18,000 \
| (6) Which of the following enterprises would most llkely us ‘w

system ? '

(a) Motor garage | (b) Bakery 0

(c) Beer brewery

@
(7) In the equivalent pro

intin
gccou hich statement is to be
prepared to fi

(a) lent production

ement o1 cost
atement of Evaluation
ocess Account |

Contrlbutlon = Recovery of fixed costs.

(a) True (b) False
(c) Incomplete (d) Can’ t3ay

(9) __ isused when the total figures only are available.

“ (a) Per unit variable cost  (b) Contribution per unit

(c) Profit volume ratio (d) Can’tsay

(10) Contribution received from the 1gales. of margin of safety =
(a) Variable cost | (b) Fixed cost
| . (c) Los- (d) Profit
Frra ou P.T.O.




(11) A relevant cost is
- (a) asunk cost (b) an opportunity cost
(c) anotional cost ~ . (d) None of the above
( li) The Amalgamation Adjustment Account appears in the books, it is shown under
the headingof __ in the Balance Sheet - N
(a) Current Assets (b) Non-current Assets

(c) Non-current Investment (d) Reserve and Surplus
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